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For compensation
Gin = 160 T/m

at Io = 767 A

Gout = -20 T/m

at Io = 517 A

for Geff = 140 T/m

Lmag = 2.200 m

Lc o i l = 2.228 m
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) L* = 4.5 m, Lmag = 2.200 m & Lcoil = 2.228 m

Z (m)

From inner quad coils

From outer quad coils

Result

Worst case, all other γγ locations should have smaller residual field!



Bare Coil Outer
Radius < 30 mm

For a ±11 mr cone
the extraction beam
Inner Radius = 50 mm
at L* = 4.5

20 mr total crossing angle gives
90 mm separation at Z = 4.5 m
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IP (Angles Relative to QD0 in mr)

H a ve a t o ta l o f
10 mm to play with

The laser beam path,
above and below, is
centered on this line
but is not shown here.
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